1098 # R4 e e 3
BE?IPLERBLYER
BF? DAY ER  EELAERE-LERHILR LS L LT
NHFTHAEIRE S EER FHMRASREISA B ELARP T2 F
I'Jifii;é-,%"%?%ﬁili%boar%;L;a:.,;g;,amwm;ﬂwﬂ\gx TR
FERY PR AGF AEMREF ER PlEZEEFD A B
BEEPAEEREORIAF T - ARt RE SRS AT R G
Rzt h Ry oMY RFEea Y BREFMASRE  F LAY
ot 80 15 p A (E AT FAR) e
109 £ & A 240 ¥ 2 HF" T PAEHPLLE A EDET E R
e T
&
F(L)/NE (243)
0-2 \
H4 CD IR R A m=f3=—2  ZEHBITEAE Yy-0=-2(x-4)

Hly=-2Xx+8 > ffbla=-2 > b=8 -

FERYNE (243)
H A EE - 55 f(X) =X —4X)Q(X)+rx+s » H A E i # AO0,0) K D(4,0) 4
f(O)=f(4)=0> fe AfBr=0- s=0> FrLL f(X) 073 X(X—4)=x> —4xX &% -

FHEYNE (457)

HES ABRIER4 ERCORER -2 #iE f(0)=4- /(4)=-

DU #R gt me fE i oi E i F(x) -

JiiZie

HEE (2)/NEE > 3% F(X)=(cx+d)(X* —4x) » & f'(X) =c(x® —4x) + (cx+d)(2x — 4)

1
RAFO=4" 1@)=-2 BEITHREAR F()=xX-GX-1) -

2 f(x)=ax®+bx’ +ox+d > & f'(x) =3ax* +2bx+c¢ >
AT =0 f(4)=0- F(0)=4- f@)=-2

it B 31 75 R A 15 f(x)=%x3—§x2+4x .



FH@)yNE (457)

28 (3) /)N 5 1) 72 81 (X) = x(x—4)(x—8) = x® —12x* + 32X >
H2<x<4p5 > 8Ff(X)=20 ;5 & 4<x<60F > 8f(x)<0 -

pros [ [BF (0] dx=["8F (x) dx— [ 8 (x) dx -

1
8 (X) 1 7 2 i 8 1 Zx“—4x3+16x2 s BT LLRE 4 B

4 6

_EX4 _ 43 +16x2} = 28+28=56

4

[1 x* —4x3 +16x2}
4

2

8f(X)=x(x—4)(x-8)=x*-12x*+32x » A f(X)=08ytE & x=0- 4~ 8>
HE RS (4,0) K y = (X) 1Y 5 i B -
L 2<x<AHF > 8F(X)20 » fF Lk 4 [ [BF (0] dx=2[ 8 (x) dx -

4

8 (X) Ky [ 2 i %1k %x“ —4x* +16X* » BT DL By 2[%x4 —4x° +16x2} —56

2

g
P INE (253)

P Bk 45 f 5 %(0,1,0)%(0,1,1)=(o,1%) :

F(2)/NE (247)
QEAFE Ry (LLT) » 3L AQPR B — SFATIHE Y -

i bl AR =QP = (0,1,%)—(1,1,0 - (-1,0,%_0

55(3)/ME (453)
7u fe 4 G-AQPR a1 J4 bL G J4 6 + 77 1038 % AQPR J 5 ff) 10 £5 4 -
{0 70 5 8 1 25 2+ (AR <AQ) PGl

5 (AR xAQ) = (—1,0,%—t)><(0,1,t) _ (t—%,t,—l) . % P_G\:(0,0,%)

L 1 1 1, 1
?%El%ﬁ& G_AQPR %*ﬁ/;\% §X|(t—§,t,—l)'(o,0,5) |:E °

7] 515 00 £ 8 G-AQPR DU A A5 45 B8 18 2 B 69 S 17 U 38 12 F I8 A9 I /5 S 48 55 -



70 £ 3 G-AQPR 738 2 1), G % TH B » 75 00 8 J AQPR % it i 11 £ §it -
ﬁ%@%ﬁ%%%ﬁﬁ@%%ﬁ%ﬁ%m%

1 AR xAQ = (—1,0,%—t)><(0,1,t) = (t—%,t,—l) 5

AQPR E’ﬂﬁ%\:lﬁ xﬁl = ‘f(t—%)2+t2+1

ﬁ%A@MM%NPR%E$ﬁ%ﬁEﬁRﬂ—§HWJ=F%
1

R By % G(0,1,0) 1 B - i A BE B 2
1 2 2
\/(t—z) +t°+1

X%E%ﬁGA@WW%EEMN—%”ﬁHX 2 1.
3 2 [1, 6
(t_E) +t°+1

_.
IRy

70 £ 4 G-AQPR T 38 2 b A 2 TE B 6 = B8 4 B U 1 1 B AQ ~ AR ~ AGEE 1 ) 47
ﬁﬁ%%%%%°

H

%%i55=«MJ)‘K§=GiQ%—0‘53=04AD’

0 1 t

_ . 1 1
Bl EFAsmeEeEmsell-1 0 s-tz-C-t)-t+1]==
2 2
-1 1
1

i 70 7 $ G-AQPR fy B i 1 Ex%:

1 515 DL G-AQPR i 7% 38 2 e 19 - 17 7 T AS #E 75 -

Iy £ #f G-AQPR T 43 & 5 Wi {# = 74 # A-GPQ ~ A-GPR -
z%%mw@z%%emﬁﬂﬁ%ﬁ%%\%%1%5%%’&EEEW%%
AT T i GPQ & GPR [ 25 8 ¥ 5 1

1 1

1 1
- T HY Be \i: B — > 15 e —t—=—
TR = A Y BE R ’J?%lz Hﬂﬁaf&%"“%%12+12 5

1
1
6



FHyNE (457)

1 11
o <AQ= (-1
t=7 0 AR xAQ = ( 77D
4T T AQPRE@ﬁ%%IAR><A_Q\|=\/(—%)2+(%)2+1=¥
155 (3)/) B 1 10 75 4 G-AQPR E@%ﬁ%%ﬁ%% :
.
50 75 9 G-AQPR f 75 B 2 B 75 e sk e — 6 Y2
1,32 3
3 4
1
ot = J
t 4j°
11
{70038 % AQPR F7 12 S [ 9 35 5] & % AR xAQ = (__Z_l)
ﬁA(l,O,O)EH%JH:J?@EW?EE%%—ZX+%V—Z+%=0
1
> V2

i G(0,1,2) 21 ¢ 17 14 82 72 AQPR Fir 15 - 1 iy H it Fy =—

Gyl 3

_.
Ry

%tziﬂﬁ’@@ﬁ‘@%ﬁﬁoé\GﬁE@APéﬁﬁE%S’
=@ GSH M ROEE - i G FH 4 AP (YR HE G 5 @ AQPR

, 35(}3}%22&5%&@:%0

GS

(EEEE - i AGPS =~ AAPC (AA M /& )1E

N

I\JOO‘NH



